

## Multiply by $10^{-3}$ (B)

Find each product.

$25 \times 10^{-3} =$

$20 \times 10^{-3} =$

$87 \times 10^{-3} =$

$90 \times 10^{-3} =$

$11 \times 10^{-3} =$

$58 \times 10^{-3} =$

$53 \times 10^{-3} =$

$58 \times 10^{-3} =$

$95 \times 10^{-3} =$

$81 \times 10^{-3} =$

$62 \times 10^{-3} =$

$58 \times 10^{-3} =$

$12 \times 10^{-3} =$

$4 \times 10^{-3} =$

$17 \times 10^{-3} =$

$84 \times 10^{-3} =$

$9 \times 10^{-3} =$

$1 \times 10^{-3} =$

$82 \times 10^{-3} =$

$4 \times 10^{-3} =$